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Factor by Grouping
1. Take out GCF (if possible)
2. Group first two terms, group second two terms
3. Take out the GCF for each binomial
4. Factor out the common binomial
EXAMPLES: 
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Homework Practice:
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7.  2(x+3)-y(x+3)					8. 3y(x-2) – 4(x-2)



Factor each completely by Grouping.
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Day 2: Extra Practice
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1) 8x* —12x% +10x— 15 2) 40p* —8p* —15p+3
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3) 4x® +4x? +28x +28
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FRACTICE: Foctor each polynomic using a GCF.

1. 10x+45 2. 28x-43

3. 18a+42 4. 8x+25

5. 18x" - 15%+37 6. 270" +81
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1) 40x® +48x% + 15x + 18 2) 12x* —20x% — 36x + 60
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3) 5n® +4n? + 251+ 20 4) 126% +306% +2b +5




image9.png
5) 961 + 60n* + 72n + 45 6) 21x° + 14x? + 21x + 14
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Factor the comumon factor out of each expression (GCF enly).

1) 3247 - 8x* + 7247 2) 3v 4+ 21v+3

3) —24v* + 9v+ 21 4) —70x* — 50x + 30
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5) 184270+ 24n® 6) —64x* + 40x+ 8




image12.png
Factor each completely by grouping, Factor GCF fivst if possible.

7) 28m° +21m? —4m -3 8) 64° +7a” + 18a + 21
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9 12p° - 14p" +30p - 33 10) 30b° — 246 + 355 - 28

11) 49m’ —Tm* —35m+5 12) 12m® + 14m® + 30m + 35
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13) 6% +42r* — =7 14) 75 + 3557 = 5x - 25

15) 5m° + 40m® — Tm — 36 16) 9p° —12p* +3p—4
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Imocfon o Factoring out GCF

*"“Factor” simply means to UNDISTRIBUTE. %
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Distributed Version f Factored Version

2xAx ~ 4)

15x2-5x+ 30

More formal Definition: .
@ Factoring: Writing the polynomial as a product.
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Steps to Factoring Out a GCF:
* Find the GCF of allits terms {number and/or variables). For variables ALL the
terms must have the variable. Choose the smallest exponent!

# The GCF goes to the LEFT!
* Write the polynomial as a product by dividing the original ferms of the polynomial

by the GCF.
* The remaining factors in each term will form a polynomial. You'll always have the

same number of terms you sfarted with.

—————

Factor using a GCF:
® 4x+éy 6x° - 9%% +12x vy eyt





